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Problem 1

A 200.0-gram mass (m;) and 50.0-gram mass (m;) are connected by a string. The

string is stretched over a pulle .
¢ y. Determine the accel '
tension in the string. cceleration of the masses and the
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Problem 2
Consider the two-body situation at the right. A 20.0-gram
hanging mass (m:) is attached to a 250.0-gram air track

glider (m;). Determine the acceleration of the system and the
tension in the string. Fﬁ ; | \
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Problem 3
Consider the two-body situation at the right. A 2.50x103-kg crate (my) rests

on an inclined plane and is connected by a cable to @ 4.00x103-kg mass (ma2).
This second mass (m;) is suspended over a pulley. The incline angle is 30.0°
and the surface is frictionless. Determine the acceleration of the system and

the tension in the cable.
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Check Your Understanding

Consider the two-body situation at the right. A 100.0-gram
hanging mass (m2) is attached to a 325.0-gram mass (m1)
at rest on the table. The coefficient of friction between the
325.0-gram mass and the table is 0.215. Determine the
acceleration of-the-system and the tension in the string.
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2. Consider the two-body situation at

This second mass (m2) is suspended over a pulley. T
and the surface has a coefficient of friction of 0.210.
of the system and the tension in the cable.
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the right. A 3.SDxIDJ-kggcrate (m1) rests
on an inclined plane and is connected by a cable to a 1.00x10°-kg mass (m2).

he incline angle is 30. 1
Determine the acceleration

UEI

= OIAG T‘Q.ﬁ:}\jjl.“(aﬁjﬁﬁ\bﬂ}

W — T

T - 00U~ \Yk?ﬁ,g :

i ——

u

T, - OO0 N :

(a3
A NS RES

0.0\$”)

B S I——



	IMG_6135
	IMG_6136
	IMG_6137

